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S/Q/A ] (135) (119) 6 92 2 100
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FE| (748) (697) 6 92 1 100
st (131) (173) 16 83 1 100
S2/E[Rl/7|EH  (504) (475) 8 90 2 100
BE/E8E| (12 (11) 15 85 0 100
ANHH AF 214
ARl AZE| (879) (865) 5 95 0 100
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=aio|sll (1,701) | (1,605) 7 92 1 100
SMAEoIE  (31) (34) 22 78 0 100
INHAE] (81) (81) 16 80 3 100
MEZ2002H| (43) (47) 6 91 3 100
MZTIEASH (1) ) 100 0 0 100
TEEH  (25) (26) 11 89 0 100
ZZSAG (348) (331) 6 94 0 100
7IEFEE|  (61) (60) 10 88 2 100
RNS/EE/ZSE] (102 (110) 24 71 5 100
TH2E "It
23 "7t (1,514) | (1,420) 6 93 1 100
HAN EWIH (2,384) | (2,378) 7 92 1 100
DE/SSE| (86) (81) 14 74 12 100
EM Er o
MIEHZ| (3,677) | (3,558) 6 93 1 100
ASEEZE| (238) (250) 15 83 3 100
HEEZS| 43) (45) 19 79 2 100
ZHos/ R E/ESEH  (26) (27) 25 60 16 100
e =2 B HY
OeoRxe 5| (1,999) | (1,986) 5 94 1 100
=0lojsl S| (1,766) | (1,668) 7 91 1 100
SMFoY 2H| (18) (18) 29 71 0 100
WA ZH (62) (62) 26 71 2 100
MZ20/2f F2| (40) (42) 7 90 3 100
MEEASE = (4) (4) 23 77 0 100
FEHE SH|  (36) (37) 13 85 3 100
7|Et BE Y EAL BH | (59) 61) 25 73 2 100
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[E5] LHEO| dAHZol2tH

[E 5] H||ch

HAME HHHEE

BI|E R 2o

O &
s THesE RIMETIOJENE: i
() 2 ot
m HA m (5,000) 17 28 1 21 100
a4
X (2,596) 15 28 1 4 17 100
O Xt (2,404) 20 28 1 1 2 24 100
)
18-29Al| (580) 19 15 2 4 1 1 43 7 3 100
30-39A|| (648) 19 15 1 2 3 2 35 6 1 100
40-49AM|| (904) 22 16 1 4 2 2 16 2 1 100
50-59AM| (1,066) 18 27 1 2 1 3 10 1 1 100
60-69M|| (976) 13 44 1 2 1 5 1 1 1 100
70M0| & (826) 13 50 0 1 1 3 14 2 3 100
M py A=
X 20CH|  (345) 1 20 1 7 1 1 41 8 3 100
O{ X} 20CH| (235) 28 9 2 1 1 1 45 5 3 100
SHXF 30CH|  (382) 14 19 1 4 1 2 29 7 1 100
O Xt 30CH| (266) 25 11 1 1 5 2 41 6 2 100
XL 40CH|  (482) 21 17 1 5 0 2 12 2 0 100
O X} 40CH| (422) 22 16 1 2 3 1 21 2 1 100
SHXF 50CH|  (547) 17 25 1 3 1 2 6 2 0 100
O Xt 50CH| (519) 19 30 1 1 1 3 14 1 1 100
=X 60CH|  (485) 1 38 1 3 2 5 7 1 1 100
O X} 60CH| (491) 14 49 0 1 0 5 14 1 1 100
=X 70M O]&| (355) 11 55 1 1 1 5 11 1 0 100
O Xt 70M O|&H 471) 14 47 0 2 0 2 17 2 5 100
HEXH
ME| (934) 16 31 1 3 2 2 22 3 2 100
OI™/A7|| (1,601) 17 24 2 3 1 3 22 3 2 100
CH™/MB/=HE|  (536) 18 26 1 2 1 3 22 3 1 100
HF/HE  (484) 31 7 1 3 1 3 16 1 1 100
CH/Z2E| (483) 9 41 0 2 2 3 24 4 2 100
A28/ 8E|  (749) 17 34 0 2 1 2 18 4 1 100
ZR/MFT| (213) 14 41 0 2 2 1 20 2 2 100
[ A

[
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(B 5] HHU0E &8 dY
[25] LHYO| MAHLo|etH, MEEHAHME HHUEE &= SYFEHENME O FYo| FRSIAIASL|I}?
B\ 229 =AM YLot
Rl s %
~ It5 ek o (O [ pu——
- Thu2| Mg B0 200 sum gy gz 29 20 28 GEE eg
= o | MBS 54T ool Qg g oy Mg "®E ek L, £8F
(o) (Eoﬂ) =4 ?ar%ttf HAE|'
m HA m (5,000) | (5,000) | 17 28 1 3 1 22 3 21 3 2 100
A
S/L/=2H|  (155) (137) 15 42 1 1 1 20 1 14 2 2 100
AE | (953) (897) 17 32 0 4 1 28 3 12 2 1 100
=223l (538) (539) 23 23 1 2 0 21 2 23 2 2 100
sto|EZtet (1,526) | (1,583) | 18 19 2 3 2 29 2 22 3 1 100
FEI (902 (853) 15 41 0 1 1 14 3 19 3 3 100
st (257) (341) 19 13 1 4 1 7 2 43 8 1 100
S2/E[Rl/7|EH  (649) (629) 14 34 1 1 1 16 4 22 3 3 100
DE/RSHE|  (20) (21) 8 26 6 0 0 9 0 29 11 11 100
ZdHA AZE 2y
&2 AZS| (1,038) | (1,037) 16 32 1 5 1 25 2 15 3 0 100
=2 A=l (2,033) | (2,046) | 17 28 1 2 1 22 3 22 3 1 100
512 AZ| (1,752) | (1,737) 19 25 1 2 2 21 3 22 3 2 100
BE/RESE (77 (180) 13 27 0 2 0 11 2 32 6 7 100
o| s gk
TIE| (1,434) | (1,450) | 32 7 2 1 1 38 2 15 2 1 100
=& (1,557) | (1,588) | 17 19 1 3 2 25 1 27 3 1 100
B (1,637) | (1,586) 5 57 0 4 1 6 5 17 3 2 100
DE/2EE| (372 (375) 13 25 0 1 0 12 2 36 5 7 100
X x|get
CE20{DIFE (1,748) | (1,756) | 45 0 1 1 0 38 1 13 1 0 100
=09o=ll (1,900) | (1,813) 1 74 0 1 1 1 3 15 2 1 100
=AZOIE|  (51) (56) 7 2 42 2 0 12 0 32 0 2 100
INHAME|  (123) (125) 2 3 3 65 1 10 1 14 2 0 100
MZ20[24| (56) (63) 2 5 0 0 70 2 0 21 0 0 100
MZEIEASH (1) (M 0 0 0 0 0 100 0 0 0 0 100
RHCH  (33) (34) 43 0 0 0 4 8 8 35 2 0 100
TS AG (435) (418) 4 0 1 1 0 85 1 7 0 0 100
7|EPHE  (79) (79) 7 1 0 0 0 13 54 23 1 1 100
RNS/BE/ZEE (574 (654) 4 5 0 2 0 4 0 66 12 7 100
T ™H2E 7t
=3 "7t (1,737) | (1,651) 2 69 0 1 0 1 5 17 3 2 100
B2 m®IH (3,027) | (3,094) | 27 6 1 4 2 35 1 20 3 1 100
DE/BSEH (236) (256) 2 23 1 2 0 2 0 54 6 8 100
=M E8 og
MIAEHZE| (4,241) | 4,155) | 19 31 1 3 1 25 3 15 1 1 100
ASEEZS| (496) (550) 13 16 1 2 1 8 2 49 6 3 100
HEHES| (135) (150) 5 10 1 2 1 8 1 31 33 7 100
Z2gots/nE/2SEH  (128) (145) 4 5 0 2 1 6 1 62 13 5 100
Y+ =2 Ex P
HERIFEE SH| (1,999) | (1986) 39 1 1 1 0 48 1 8 1 0 100
=Z0lojsl SH| (1,766) | (1668) 1 78 0 2 1 1 5 10 2 1 100
=AMHOIE ZH|  (18) (18) 5 0 39 0 0 25 0 31 0 0 100
NSNS ZH| (62) (62) 3 2 2 72 1 18 1 0 0 0 100
MZ20/2f =2| (40) (42) 2 5 0 0 79 4 0 8 2 0 100
ME2SS 22| (4) (4) 24 0 0 0 49 28 0 0 0 0 100
AEC SH| (36) (37) 48 0 0 5 0 20 5 19 3 0 100
J|et HE A PAL SH| (59) 61) 12 8 0 0 0 27 27 16 8 2 100
012%/ge/2 /288 (1,016) | (1121) 5 6 1 3 1 8 1 62 9 5 100
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(# 6] HIHUE &8 T XX 4=
[Z6] &8 EZok HZUE 88 F& Z2¥S HE 7580 AL

rm

o
HZHE EE ME _7F_A|-9|_|-E ESE=X
ole o | A= A;j_ﬂi =y OfL|C} DE/RSH A
AT (Eﬁ) T
° €))

m HA m (3,847) | (3,728) 8 91 1 100

A
SXH (2,072) | (1,934) 8 91 0 100
OofXH (1,775 | (1,794) 8 91 1 100

i k=]
18-29Al| (275) (381) 13 87 0 100
30-39Al| (379) (425) 15 85 0 100
40-49M|| (737) (723) 10 89 0 100
50-59A1| (936) (860) 5 94 1 100
60-69M|| (851) (756) 5 94 1 100
70M0]| & (669) (584) 4 93 3 100

AdHpyH™
=X 20CH|  (167) (200) 16 84 0 100
O X} 20CH| (108) (181) 9 91 0 100
=XF 300  (240) (241) 16 84 0 100
O Xt 30CH| (139) (184) 13 87 0 100
XL 40CH|  (415) (390) 9 91 0 100
O X} 40CH| (322) (333) 12 88 0 100
HXF 50CH|  (5071) (452) 6 93 1 100
O{ X} 50CH| (435) (408) 5 94 1 100
=X 60CH|  (438) (386) 5 95 0 100
O X} 60CH| (413) (370) 6 93 1 100
SHXF 70M O] A (311) (265) 4 94 2 100
O{ Xt 70M O|&| (358) (319) 4 92 4 100
=X 4
ME| (690) (682) 8 92 1 100
OIM/AZI| (1,236) | (1,189) 8 92 0 100
E/MB/=H-|  412) (395) 7 91 2 100
23 /HaH  (398) (394) 10 90 0 100
Ol 7/dE| (345) (336) 10 88 1 100
HAgA/AY | (597) (569) 7 92 1 100
ZR/HZFE|  (169) (163) 6 92 2 100
[ H =]

[
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(B 6] HHYUE &8 Y XX 2k
[26] &3 LBt HE Y &8 2T 2 HE 7580 Ay LTW?
R %
7t 2k
" Em ANt ZNEE| g
TN O e | Q3 opuict 2/288 A
(&) ()
m HA m (3,847) | (3,728) 8 91 1 100
A
S//A | (128) (112) 4 95 1 100
A (815) (759) 7 92 1 100
S2ZeH (406 (393) 8 92 0 100
Sto|EZE} (1,186) | (1,192) 9 90 0 100
FHEI (699 (649) 5 93 2 100
SHl (121) (161) 17 83 0 100
B2 RI/E|Rl/7|EH  (481) (452) 7 91 2 100
2E/ESH| (11 (10) 0 100 0 100
ANHH AFE 214
o2 AZ| (867) (849) 8 91 0 100
=2 A=| (1,567) | (1,516) 7 92 1 100
5t Al=| (1,308) | (1,265) 9 90 1 100
RE/ESE] (105) (99) 3 93 4 100
o|=/dgk
TE| (1,204) | (1,191) 8 92 0 100
S| (1,115 | (1,092) 10 90 1 100
H3| (1,317) | (1,249) 7 92 1 100
BE/FSE] @11) (196) 6 91 4 100
X|x|gst
HEO{QIFE (1,513) | (1,499) 8 92 0 100
=09l (1,565) | (1,466) 6 93 1 100
=AHOIT|  (34) (37) 12 88 0 100
INHAME| (104) (106) 18 82 0 100
MZ20024| 45) (50) 6 94 0 100
MZTIEASH (1) ) 0 100 0 100
AL (22) (22) 0 100 0 100
ZISNL (402) | (386) 7 92 1 100
JIEFEE  (61) (59) 12 88 0 100
2/2E/ZSE| (100 (102) 26 69 4 100
T H2Yd "It
23 "™t (1,397) | (1,302) 5 94 1 100
B2 "I (2,366) | (2,348) 9 90 1 100
DE/Z8E| (84 (78) 15 79 7 100
=M B8 o
MIEHZ| (3,551) | (3,423) 7 92 1 100
ASEEZE| (226) (233) 20 77 2 100
HEES| 41) (43) 17 83 0 100
28t/ E/ESE|  (29) (29) 18 82 0 100
Hes &8
=0 Rl=Ae| (841) (868) 9 90 1 100
=aio|ojz| (1,474) | (1,384) 5 93 1 100
SMFoY (46 | 49 26 74 0 100
IHHAME| (130) (131) 19 79 1 100
MEZ=20[24| (63) (67) 10 88 3 100
=M (1,157) | (1,101) 7 92 0 100
a9 8| (136) (128) 16 84 0 100
I
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(# 7] 34 21 o
[27] ddEel XX o7t J2510], 48 =22 HAHUM OfH 217} LhE A2 O &t L7t?

rm

: %

Its ek ool Oftol
TALRtE = =
XA Afgﬂ* =i = @o|=o| =0 TFH0| utEtolA HE 0| o=/00ct 2
= o | AR il el ESE=y IfEolb S LteX| %2 A =/To=
S @ | mxE A xtR[E 2
m HA @ (5,000) | (5,000) 23 47 13 17 100
a4
X (2,596) | (2,477) 21 52 16 11 100
O XH (2,404) | (2,523) 25 42 11 22 100
oy
18-29Al| (580) (798) 19 43 16 22 100
30-39A|| (648) (741) 18 47 18 17 100
40-49M||  (904) (891) 14 63 12 1 100
50-59A| (1,066) (981) 20 57 13 10 100
60-69M|| (976) (867) 32 39 14 16 100
70M0| & (826) (722) 36 27 9 28 100
M pyH ™
=X 20CH|  (345) (416) 24 41 20 16 100
O{ X} 20CH| (235) (382) 15 45 12 28 100
HXF 30CH|  (382) (385) 18 50 18 14 100
O Xt 30CH| (266) (356) 18 43 18 21 100
XL 40CH|  (482) (453) 10 69 14 8 100
O X} 40CH| (422) (438) 19 58 10 13 100
SHXF 50CH|  (547) (494) 16 64 13 6 100
O Xt 50CH| (519) (487) 24 51 12 13 100
=X 60CH|  (485) (427) 25 48 16 10 100
O X} 60CH| (491) (440) 38 30 11 21 100
=Xt 70M O 4| (355) (302) 36 33 14 18 100
OofX} 70M O|&H (471) (420) 36 23 5 36 100
FXd
ME| (934 (933) 24 42 18 16 100
OIM/ZA7|| (1,601) | (1,601) 21 50 13 16 100
CHN/MB/548|  (536) (536) 21 51 1 18 100
HF/HE  (484) (484) 7 69 10 14 100
CH/Z2E| (483) (485) 33 32 15 20 100
A4/ AEE| (749) (746) 28 42 11 18 100
BRA/MAZF] (213) (215) 31 38 14 17 100
[ H =]

[
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[27] ddgel XIX| ofFet

£Q

E713%

o 2o oy

0|, 48 3|0/ MAHOA OfF ZDp7} Lt

2 oot Ut

rm

zAtelE Vst %gl Oftol
| TR == = @o|=o| =0 TFH0| utEtolA HE 0| n=/og9 A
= (mT NS il el ESE=y hpgto| M S EE=A =/Te
S @ | mmE A xtR[E 2
m HA @ (5,000) | (5,000) 23 47 13 17 100
233
S//=4- | (155) (137) 28 37 11 24 100
XEA|l (953) (897) 25 50 13 12 100
=223l (538) (539) 19 51 14 15 100
Sto|EZE} (1,526) | (1,583) 16 56 15 12 100
FEI (902 (853) 34 32 10 24 100
oH M| (257) (341) 18 48 16 19 100
F2/E[Rl/7|EH  (649) (629) 29 38 13 20 100
DE/RSHE| (20 (1) 18 10 9 63 100
dHH AFE 214
A2 A=| (1,038) | (1,037) 21 51 16 11 100
=2 A=| (2,033) | (2,046) 25 46 14 15 100
8t A= (1,752) | (1,737) 21 48 1 19 100
RE/ZSE| (177) (180) 21 28 9 43 100
o| =/ dgk
TE| (1,434) | (1,450) 10 73 8 9 100
=E| (1,557) | (1,588) 16 52 18 15 100
24| (1,637) | (1,586) 44 23 16 17 100
DE/2EE| (372 (375) 17 27 51 100
X x|get
HE20{DFE (1,748) | (1,756) 3 83 6 8 100
=01o[&ll (1,900) | (1,813) 53 12 17 18 100
=A™ (51) (56) 11 51 19 20 100
INHAME|  (123) (125) 9 52 29 10 100
MZ20[24| (56) (63) 17 23 48 12 100
MZIEASH (1) M 0 100 0 0 100
MEE (33 (34) 7 56 20 17 100
TS AG (435) (418) 1 79 11 9 100
7|EPHE  (79) (79) 31 40 20 9 100
S2/RE/ESH| (574 (654) 12 29 17 41 100
T ™H2Yd "It
23 "7t (1,737) | (1,651) 55 10 16 19 100
BH "I (3,027) | (3,094) 7 70 12 12 100
DE/ZSE| (236) (256) 14 12 13 61 100
=M E5 o
MIEHZ| (4,241) | (4,155) 24 50 12 14 100
ASEES| (496) (550) 20 37 20 24 100
HEEZS| (135) (150) 13 33 17 37 100
Z28otel/n g/ 3E| (128) (145) 14 23 15 48 100
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(B 8] &4 QA
(28] 48 =3ol@ MAe #&HSI0 L F o oA o &Sk LI
R %
NSk |« PO N
ZT ALt X8 A HEE XY A QEE HF S|
abs| At = JUETES 2o oo 22 2o OfEo S DE/RSH A
() (%; A0 FOF BHCH A 0{F{OF oFCH

m HA m (5,000) | (5,000) 40 52 8 100
A

=X (2,596) | (2,477) 39 54 7 100

O{Xt (2,404) | (2,523) 40 50 10 100
o

18-29Al| (580) (798) 32 52 16 100

30-39M|| (648) (741) 31 55 14 100

40-49M|  (904) (891) 24 70 6 100

50-59A|| (1,066) | (981) 36 60 4 100

60-69M|| (976) (867) 56 38 6 100

70M|0| A (826) (722) 64 29 7 100

ApyH ™

=XF 20CH|  (345) (416) 39 45 16 100

O{ X} 20CH| (235) (382) 23 60 16 100

SHXF 30CH|  (382) (385) 35 54 11 100

o{ X} 30CH| (266) (356) 26 57 17 100

SXb 40CH|  (482) (453) 22 74 5 100

O{ X} 40CH| (422) (438) 26 67 7 100

SHXF 50CH|  (547) (494) 33 65 2 100

O Xt 50CH| (519) (487) 39 56 5 100

=X} 60CH| (485) 427) 50 46 4 100

Oo{ X} 60CH| (491) (440) 63 31 7 100

SXb 70M O] 4| (355) (302) 67 30 4 100

O X} 70M O|& (471) (420) 62 28 10 100

=X 4

ME| (934 (933) 45 47 8 100

oIM/AZI| (1,601) | (1,601) 36 55 8 100

CH™M/MB/=H8| (536) (536) 37 54 10 100

/e (484) (484) 14 80 6 100

CH/EE| (483) (485) 58 32 10 100

BA/SL/A8E|  (749) (746) 46 46 8 100

BRAMA=F] (213) (215) 50 40 11 100

[
HankookIResearch

16



rm

xaeiz| T s myue xas) w wee AN
A At = Afaﬂi sl ofZo == @ ol ofo HS DE/RSH A
() @T A0 FOF BHCH A 0{F{OF oFCH
m HA m (5,000) | (5,000) 40 52 8 100
x ¢
S/L/=L | (155) (137) 55 39 6 100
AE S| (953) (897) 41 54 6 100
=32Z2t  (538) (539) 33 57 10 100
Sto|EZE} (1,526) | (1,583) 30 62 8 100
=2 (902 (853) 56 36 8 100
st (257) (341) 31 55 14 100
S2/E[R/7|EH  (649) (629) 50 41 10 100
2E/ESH| (20 (21) 37 23 40 100
ANHH AFE 214
M2 AZ| (1,038) | (1,037) 41 52 7 100
=2 A=| (2,033) | (2,046) 42 51 7 100
S5t Al=| (1,752) | (1,737) 36 54 10 100
BE/2ZE] (177) (180) 43 29 28 100
o|=/dgk
TIE| (1,434) | (1,450) 12 84 3 100
=&| (1,557) | (1,588) 32 59 9 100
24| (1,637) | (1,586) 75 19 6 100
DE/R8E] (372 (375) 33 33 34 100
X|x|gst
HEO{QIFE (1,748) | (1,756) 4 93 4 100
Z019|3l| (1,900) | (1,813) 92 5 4 100
=AFOIT|  (51) (56) 7 76 16 100
INHAME|  (123) (125) 29 52 19 100
MZ20[24| (56) (63) 23 57 20 100
MZTIEASH (1) ) 0 100 0 100
TEEH  (33) (34) 21 72 7 100
Z2E A (435) (418) 3 94 4 100
1R8] (79) (79) 45 46 9 100
U8/28/23H| (574) (654) 24 41 34 100
THLH "It
23 "ot (1,737) | (1,651) 89 6 4 100
B2 "I (3,027) | (3,094) 14 79 7 100
DE/Z8E (236) (256) 37 14 49 100
=M B8 o
MIEHZ| (4,241) | (4,155) 41 53 5 100
ASEHEZS| (496) (550) 36 48 16 100
HEH®Z| (135 (150) 30 41 30 100
2ot/ B E/RSE  (128) (145) 29 29 43 100

[
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CH|
ZArRE 7;2? u®0 e o n@o =
EX_” Al_E:"_,'g_ =) _H:I‘ _E OI'E T2 E_A OI'E H:_I‘ B2 EE/ 7:”
() At | &%t Ho|oh (@+@) HOo|h HEXRSLD (®+@) F3E
° (%) QULF ULk
m HA m (5,000) | (5,000) 10 23 33 20 42 62 5 100
a4
EHXH (2,596) | (2,477) 9 22 31 21 44 65 4 100
O Xt (2,404) | (2,523) 11 24 35 19 40 59 6 100
)
18-29M||  (580) (798) 3 15 18 38 33 71 10 100
30-39A| (648) (741) 4 20 25 28 42 69 6 100
40-49M||  (904) (891) 6 12 18 16 63 79 3 100
50-59Al| (1,066) (981) 10 20 30 14 54 67 2 100
60-69All| (976) (867) 18 31 49 13 34 47 4 100
70M|0| &  (826) (722) 20 40 60 13 21 33 6 100
M pyH =
=X 20CH|  (345) (416) 4 19 23 41 27 68 9 100
O Xt 20CH| (235) (382) 2 11 13 35 41 75 11 100
SFXF 30CH| (382) (385) 5 22 27 27 40 68 6 100
O Xt 30CH| (266) (356) 3 19 22 28 43 71 6 100
XL 40CH|  (482) (453) 5 11 17 15 65 80 3 100
O Xt 40CH| (422) (438) 7 13 20 17 60 77 3 100
SFXF 50CH|  (547) (494) 9 18 27 15 58 72 1 100
O Xt 50CH| (519) (487) 11 23 34 13 50 63 4 100
Xt 60CH| (485) (427) 16 26 42 14 41 55 2 100
O Xt 60CH| (491) (440) 20 35 55 13 26 39 6 100
=Xt 70M O|& (355) (302) 21 42 62 12 23 35 3 100
O Xt 70Al Ol&| (471) (420) 20 39 59 13 19 32 9 100
FXd
ME| (934) (933) 10 26 37 19 40 60 4 100
QIE/A7]| (1,601) | (1,601) 10 19 29 20 46 66 6 100
CH™M/MB/58|  (536) (536) 9 22 32 20 42 62 6 100
Z/HEH  (484) (484) 2 10 12 20 64 85 3 100
O 7/4E| (483) (485) 15 36 51 22 22 44 5 100
BA/S2L/AdE|  (749) (746) 13 25 39 20 36 55 6 100
BRAMAZFT] (213) (215) 12 29 41 22 30 52 7 100
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7t

b
o
MZESEAL L7k RSt QICET MZEsHA L7t

CH
TAIRIE o (@) @ ® @
A A}E1I|_* =i o < = T2 25 O B2 L=y} 2
- (m)T Al | Zstn Holt  (@+@) Holth ERdn (9+@) FSE
< ) UCE =
m HA m (5,000) | (5,000) 10 23 33 20 42 62 5 100
A
S/L/L | (155) (137) 12 37 49 13 30 43 9 100
S| (953) (897) 12 22 34 14 49 63 3 100
S2ZeH  (538) (539) 7 23 31 21 43 64 5 100
sto|EZte} (1,526) | (1,583) 6 17 23 22 52 73 4 100
FHI (902 (853) 17 33 50 15 29 45 6 100
st (257) (341) 1 14 15 41 33 73 11 100
S2/E[Rl/T|EH  (649) (629) 15 27 42 21 32 52 6 100
2E/RSE| (20 (21) 13 29 42 9 17 26 32 100
dHH A ZFE 214
22 AZE| (1,038) | (1,037) 1 22 33 18 47 65 2 100
=2 AZE| (2,033) | (2,046) 11 24 35 19 41 60 5 100
S5t Al=| (1,752) | (1,737) 9 22 31 22 42 64 5 100
RE/ESE (177) (180) 15 21 36 18 24 41 22 100
o| =/ dgk
RE| (1,434) | (1,450) 3 7 9 19 70 89 2 100
=&| (1,557) | (1,588) 5 19 24 25 46 72 4 100
2= (1,637) | (1,586) 23 41 64 16 16 31 5 100
DE/ESE (372 (375) 9 22 31 18 27 45 24 100
X x|get
HEo{ RIS (1,748) | (1,756) 0 3 4 18 77 95 1 100
=003l (1,900) | (1,813) 26 51 77 14 4 18 5 100
=AFOIEH  (51) (56) 2 5 8 38 51 89 3 100
NS A (123) (125) 5 10 14 33 48 81 5 100
MZ=20/24 (56) (63) 0 5 5 33 58 90 5 100
MZEIEASH (1) ) 0 0 0 0 100 100 0 100
FlEEH (33 (34) 0 10 10 12 70 83 7 100
ZZS A (435) (418) 0 2 2 15 83 98 0 100
7|EFYE  (79) (79) 24 19 42 15 40 55 3 100
RNS/BE/ZEE (574 (654) 2 16 19 39 22 61 20 100
SH2d "7t
=3 "®7H (1,737) | (1,651) 31 69 100 0 0 0 0 100
2 H®IH (3,027) | (3,094) 0 0 0 32 68 100 0 100
DE/2EE] (236) (256) 0 0 0 0 0 0 100 100
=M B8 o
MIAEHZE| (4,241) | (4,155) 12 23 35 16 46 62 3 100
AZEHZE| (496) (550) 3 23 26 41 23 65 10 100
HEHEZS| (135) (150) 4 16 20 30 31 62 18 100
2ot/ B E/EEE (128) (145) 4 17 21 38 16 54 25 100
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|0

o o
A2

[# 10] ==2|2| MEA| 2 o|H
‘ME 0ol =3|9f MBAl 2 O]
Ofof CHeH OfEA dZstLl7t?

x—i "

—

A o= 2rCt o= RE/RSH A
m HA m 49 38 13 100
A
=2 52 38 11 100
Of Xt 47 38 16 100
s
18-29A 41 34 24 100
30-39A 44 40 16 100
40-49AM 42 49 9 100
50-59A 49 43 8 100
60-69A 58 33 9 100
70A4[0] & 62 24 14 100
AdHpyH™
=Xt 20CH 51 27 22 100
Oo{ X} 20LCH 30 42 27 100
=Xt 30CH 47 39 14 100
O Xt 30CH 39 42 19 100
=Xt 40CH 47 47 6 100
O{ X} 40CH 37 51 12 100
=Xt 50CH 49 45 6 100
O{ Xt 50CH 49 40 10 100
=X 60CH 55 39 6 100
O{ X} 60LH 61 27 12 100
SEXE 70M| O A 64 25 11 100
O X} 70M| O|At 60 24 16 100
HEXH
M2 50 37 12 100
Q™47 44 42 14 100
™/ MB/2H 52 36 12 100
/82t 33 55 12 100
/2% 65 22 13 100
At/ Z A A E 53 32 15 100
ZR/AF 57 30 13 100
[
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[# 10] ==2|2| MEA| 2 o|H
[210] 2 ota2 =ZUoY HIUREE2 "Ma ooz =20 MBAl 2t o|H" S°f= TRIUSLICH

Ofof CHeH OfEA dZstLl7t?

c}
zaez| TEH
A INEES ;Ei S8HMoR2 ZELf HEFN™o= 2L} RE/RSH A
() fefl =
(%)
m HA m (5,000) | (5,000) 49 38 13 100
Y
S/L/=L | (155) (137) 54 31 15 100
AE | (953) (897) 54 39 8 100
2222l (538) (539) 43 42 15 100
Sto|EZE} (1,526) | (1,583) 45 44 11 100
FEI (902) (853) 56 31 13 100
ot (257) (341) 40 35 25 100
S2/E[R/7|EH  (649) (629) 54 30 16 100
2E/RSE| (20 (21) 48 8 44 100
ANHH AFE 214
A2 AZ| (1,038) | (1,037) 52 40 8 100
=2 A=| (2,033) | (2,046) 52 36 12 100
St Al=| (1,752) | (1,737) 45 39 15 100
BE/EZE] (77 (180) 40 28 32 100
o] =/ dgk
TIE| (1,434) | (1,450) 34 56 10 100
=&| (1,557) | (1,588) 46 42 12 100
24| (1,637) | (1,586) 70 19 11 100
DE/E8E] (372 (375) 34 27 39 100
X x|gst
HEO{ QIS (1,748) | (1,756) 25 64 10 100
=0o=ll (1,900) | (1,813) 81 10 9 100
=AZOIT|  (51) (56) 45 34 21 100
INHAME| (123) (125) 59 36 6 100
MEZ=20[24| (56) (63) 60 35 5 100
MZTIEASH (1) ) 0 100 0 100
TEEH  (33) (34) 22 72 6 100
ZIZSAG (435) (418) 33 57 9 100
7IEPHE (79) (79) 46 41 13 100
RNS/BE/ZSE (574 (654) 35 29 36 100
THLH "It
23 "®7t (1,737) | (1,651) 82 8 10 100
B2 "®IH (3,027) | (3,094) 32 56 12 100
DE/2SE (236) (256) 42 10 47 100
=M E5 o
MIEHZ| (4,241) | (4,155) 51 39 10 100
ASEHEZE| (496) (550) 42 31 27 100
HEH®Z| (135 (150) 37 35 28 100
2o/ E/2SE| (128) (145) 38 25 37 100
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c}
znzz| EE
x| At Arﬂaﬂl SYNo 2 2Lt | BFXNo=Z &Lt RE/RSH A
H
NG
m HA m (5,000) | (5,000) 38 55 7 100
A
SXH (2,596) | (2,477) 41 54 5 100
O Xt (2,404) | (2,523) 35 56 9 100
s
18-29Al| (580) (798) 40 47 13 100
30-39A|| (648) (741) 35 56 9 100
40-49M|| (904) (891) 50 45 5 100
50-59AM| (1,066) | (981) 47 48 6 100
60-69M|| (976) (867) 31 65 4 100
70M|0] &  (826) (722) 22 71 6 100
AdHpyH™
X 20CH|  (345) (416) 37 55 9 100
O{ X} 20CH| (235) (382) 44 38 18 100
SHXF 30CH|  (382) (385) 35 57 8 100
O{ X} 30CH| (266) (356) 35 55 9 100
XL 40CH|  (482) (453) 54 43 3 100
O X} 40CH| (422) (438) 46 47 7 100
SHXF 50CH|  (547) (494) 53 42 4 100
O Xt 50CH| (519) (487) 40 54 7 100
=X 60CH|  (485) (427) 36 61 3 100
O X} 60CH| (491) (440) 26 69 5 100
=X 70M| O] &+ (355) (302) 24 72 4 100
O Xt 70M O|&H (471) (420) 21 71 8 100
HEXH
ME| (934) (933) 31 62 7 100
QI™ /A7l (1,601) | (1,601) 42 50 7 100
CH™M/MB/=H8|  (536) (536) 40 53 6 100
a4 /HEH  (484) (484) 62 30 8 100
/48| (483) (485) 24 70 7 100
HA/SL/EE| (749) (746) 33 60 7 100
ZR/HZFE| (213) (215) 32 62 6 100
[ H =]
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(B 1] ® 30 3 EXAZ X2
[211] 22 O|MY HEooFE EE M =0 191g 250+ 29| TM|EX|dE X2"S M etst&L
Ol0f CHal OlEA “HztstalL|mt?
R %
zaez| TEH
x| At Af‘aﬂl SYNo 2 2Lt | BFXNo=Z &Lt RE/RSH A
H
() ()
m HA m (5,000) | (5,000) 38 55 7 100
Y
S//=4 | (155) (137) 32 61 7 100
AE | (953) (897) 39 57 4 100
2222l (538) (539) 47 46 7 100
Sto|EZE} (1,526) | (1,583) 42 51 6 100
FH| (902 (853) 28 64 7 100
ot (257) (341) 39 45 15 100
S2/E[R/7|EH  (649) (629) 35 59 7 100
2E/RSE| (20 (21) 13 47 40 100
ANHH AFE 214
A2 AZ| (1,038) | (1,037) 35 60 4 100
=2 AZE| (2,033) | (2,046) 39 55 6 100
St Al=| (1,752) | (1,737) 41 51 8 100
BE/ASE| (77 (180) 23 52 25 100
o] =/ dgk
TIE| (1,434) | (1,450) 64 29 6 100
=&| (1,557) | (1,588) 40 53 7 100
H=| (1,637) | (1,586) 14 82 3 100
DE/E8E] (372 (375) 29 45 26 100
X x|gst
HEO{ QIS (1,748) | (1,756) 73 21 6 100
=9Il (1,900) | (1,813) 7 90 2 100
SMEoIE  (51) (56) 39 50 1 100
INHAME| (123) (125) 15 80 6 100
MZ2002H (56) (63) 11 88 1 100
MZTIEASH (1) ) 0 100 0 100
MELE (33) (34) 56 38 6 100
ZIZSAG (435) (418) 62 29 9 100
7IEPHE (79) (79) 25 68 7 100
AS/BE/ZSEH (574 (654) 23 55 21 100
THLH "It
23 "®7t (1,737) | (1,651) 9 88 3 100
28 W™ (3,027) | (3,094) 56 37 7 100
DE/2SE (236) (256) 15 51 34 100
=M E5 o
MIEHZ| (4,241) | (4,155) 40 55 6 100
ASEHEZE| (496) (550) 31 58 11 100
HEH®Z| (135 (150) 34 54 11 100
2o/ E/2SE| (128) (145) 31 44 25 100
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(B 12-1] &8 9 202 - (1) 2EXte| 4ol 8 xjit & A4 2|
[£12] O|'H =2 MAON CtZO| HOHE0| MUEHNAM ErY 2 & FY2 2= oLt g2 FQCtn
MZESEA L 7L
CH|
= B R > 3
ZARER | T 2 0f < CHA| 2 ™ HE2 s B2 o=/
MK =B s dots | 9¢s gdots | = =y
' | Te | e | Fan R @@ Fq wm @@ sz T
(%) orotch  grorct
m HA m (5,000) | (5,000) 24 32 55 7 10 37 7 100
a4
EHXH (2,596) | (2,477) 24 31 55 29 12 40 5 100
O{XF (2,404) | (2,523) 24 32 56 25 9 34 10 100
ol
18-29M| (580) (798) 17 41 58 25 9 33 9 100
30-39A| (648) (741) 24 35 59 25 1 36 4 100
40-49M||  (904) (891) 23 33 57 31 10 41 3 100
50-59Al| (1,066) (981) 28 29 57 29 10 39 4 100
60-69AM|| (976) (867) 26 26 52 27 1 39 9 100
70M|0| &  (826) (722) 21 27 48 22 11 34 19 100
AHpys ™
X 20CH| (345) (416) 17 40 57 27 9 36 7 100
O Xt 20CH| (235) (382) 17 42 59 23 8 30 1 100
SFXF 30CH| (382) (385) 23 29 52 29 13 43 5 100
O Xt 30CH| (266) (356) 26 41 67 21 8 29 4 100
XL 40CH|  (482) (453) 24 31 55 32 1 43 2 100
O X} 40CH| (422) (438) 23 36 59 29 9 38 3 100
SFXF 50CH|  (547) (494) 27 29 56 31 11 42 2 100
O Xt 50CH| (519) (487) 30 29 58 27 9 37 5 100
Xt 60CH| (485) (427) 26 27 53 28 13 41 6 100
O Xt 60CH| (4971) (440) 27 26 52 26 10 36 11 100
=Xt 70M O|& (355) (302) 23 30 53 23 13 36 11 100
O X} 70M| O|&F| (471) (420) 19 25 44 21 11 32 24 100
HEXH
AN=| (934) (933) 26 30 56 26 11 37 7 100
QIE/A7]| (1,601) | (1,601) 24 33 57 25 10 35 7 100
™/ MB/58| (536) (536) 23 25 49 31 12 44 7 100
/Ml (484) (484) 22 31 54 27 13 40 6 100
/45| (483) (485) 21 34 55 28 9 37 8 100
BA/S2L/AdE|  (749) (746) 25 33 58 25 9 34 9 100
Z2/MFE| (213) (215) 19 33 51 33 6 39 9 100
[ H =]
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(B 12-1] &8 9 202 - (1) 2EXte| 4ol 8 xjit & A4 2|
[£12] O|'H =2 MAON CtZO| HOHE0| MUEHNAM ErY 2 & FY2 2= oLt g2 FQCtn
MZESEA L 7L
CH
S R R R
A Zi:;:ﬁ% LE & o1u Hs_tro Eﬂﬂ% T2 Oﬂleﬁtgo 01‘71?1" B2 =5/ A
@ | M| zan zan @@ Fg Fgy ©@ 8%
(3) OIICE  osotrt
m HA m (5,000) | (5,000) 24 32 55 7 10 37 7 100
x| 9]
S/L/L | (155) (137) 18 28 46 24 10 35 20 100
AEA|  (953) (897) 27 27 55 29 1 40 6 100
S2Ztatl  (538) (539) 22 33 54 29 10 38 7 100
Slo|EZEH (1,526) | (1,583) 23 35 58 29 10 39 3 100
FHI (902) (853) 25 29 54 23 10 33 13 100
St (257) (341) 19 42 60 23 9 32 8 100
S2/E[Rl/T|EH  (649) (629) 23 30 53 25 13 38 9 100
BE/28E] (20 (21) 20 14 34 8 6 14 52 100
dHH AZF ol4
AR AZ=| (1,038) | (1,037) 27 31 58 29 11 40 2 100
=2 AZE| (2,033) | (2,046) 24 34 58 27 10 37 6 100
st AZE| (1,752) | (1,737) 23 31 54 27 11 37 9 100
RE/ESE (77 (180) 15 18 33 13 12 25 42 100
o|g/da
RE| (1,434) | (1,450) 23 34 56 30 11 41 3 100
=&| (1,557) | (1,588) 24 35 60 27 9 36 4 100
= (1,637) | (1,586) 26 30 56 25 1 36 8 100
2E/RSHE| (372 (375) 13 16 29 20 13 34 38 100
X x|get
HE0{TFE (1,748) | (1,756) 22 31 54 30 12 42 4 100
=003l (1,900) | (1,813) 27 32 59 24 9 33 8 100
ZMAEoIE  (51) (56) 20 43 62 26 9 35 3 100
NS A (123) (125) 32 37 69 17 12 29 2 100
MEZ=20|2f| (56) (63) 42 30 72 16 8 25 3 100
MZRIEASH (1) ) 0 100 100 0 0 0 0 100
TS (33) (34) 44 30 74 12 5 18 8 100
ZTZHAMEH  (435) (418) 19 31 49 33 13 46 4 100
JIEFES  (79) (79) 28 27 55 20 17 37 9 100
RNS/BE/ZEE (574 (654) 15 33 48 26 9 34 17 100
TH2FE 7t
=3 "®7H (1,737) | (1,651) 29 30 59 23 9 32 9 100
BN EHIH (3,027) | (3,094) 22 33 55 29 11 41 4 100
DE/2EE (236) (256) 10 25 36 20 8 28 36 100
EH Er o
MIAEHZE| (4,241) | (4,155) 26 31 56 27 10 37 6 100
A2SERZ| (496) (550) 13 42 55 26 9 34 10 100
HEES| (135) (150) 16 26 41 23 23 46 13 100
2ot/ B E/ESE|  (128) (145) 16 25 40 26 12 38 22 100
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[E 12-2] &= %”'%t 2ol - Q) T2 AHY 2[A3
[212] Ol =3|o|| MAHHNM LiZ2 HRHSO| =

2 = 95 8ot ot s FALL

CH
= B R > 3
ZARER | T 2 0f < CHA| 2 ™ HE2 s B2 o=/
HA| NS L | @ T2 das g2 s A
@ | M zan zgg @@ xxy  Fzx @@ F8E
) Tt oot
m HA m (5,000) | (5,000) 30 24 54 5 13 38 9 100
Al
EHXH (2,596) | (2,477) 29 23 52 26 16 42 6 100
O{XF (2,404) | (2,523) 30 25 55 24 10 34 11 100
ol
18-29A| (580) (798) 19 33 52 30 9 38 10 100
30-39A| (648) (741) 27 31 57 27 10 37 6 100
40-49M| (904) (891) 31 23 54 27 15 41 4 100
50-59A|| (1,066) | (981) 34 20 54 26 16 42 5 100
60-69AM|| (976) (867) 35 22 57 20 15 35 8 100
70M|0| &  (826) (722) 30 18 48 19 11 31 21 100
Ml pyHA
X 20CH| (345) (416) 21 35 56 25 11 36 8 100
Oof X} 20CH| (235) (382) 16 31 48 35 5 11 1 100
SFXF 30CH| (382) (385) 26 27 53 28 12 40 7 100
O Xt 30CH| (266) (356) 27 35 62 25 8 32 6 100
XL 40CH|  (482) (453) 29 21 50 30 16 46 4 100
O X} 40CH| (422) (438) 34 25 59 24 13 37 4 100
SFXF 50CH|  (547) (494) 31 19 50 27 21 48 3 100
O Xt 50CH| (519) (487) 37 21 58 25 11 36 7 100
Xt 60CH| (485) 427) 34 22 55 23 17 40 5 100
O Xt 60CH| (4971) (440) 37 22 59 17 13 30 11 100
=Xt 70M O|& (355) (302) 34 18 52 24 13 37 11 100
O X} 70M| O|&F| (471) (420) 26 18 45 16 10 27 29 100
HEXH
AN=| (934) (933) 33 24 56 24 12 36 7 100
oIM/AZI| (1,601) | (1,601) 28 25 52 26 13 39 8 100
CHE/MB/EH|  (536) (536) 29 23 52 24 15 40 9 100
/82l (484) (484) 21 24 45 30 16 46 8 100
/25| (483) (485) 33 25 59 24 9 33 9 100
A 24/8E| (749) (746) 33 23 57 22 11 33 10 100
Z2/MFE| (213) (215) 29 24 54 25 11 36 10 100
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[HE 12-2] EE 98 0 - (2) TEX| AtY 2[Aa3
_?_

A
2 EE YES AWsHeO ot YFS FoUCHD

CH
S R S ]
MR | g 0f < CHA| 2 ™ HE2 3 B2 ey
HA| NS A;Eﬂi g2 g2 (@+®) das g2 G+@) = S A
(%) o | FRUCH =t ZFX| ZFX| TewE
(3) OIICE  osotrt
m HA m (5,000) | (5,000) 30 24 54 5 13 38 9 100
x| 9]
S/L/L | (155) (137) 20 25 45 26 12 38 17 100
AEA|  (953) (897) 36 20 56 24 15 39 5 100
S2Ztatl  (538) (539) 26 26 52 27 12 39 9 100
Slo|EZEH (1,526) | (1,583) 29 26 54 28 13 41 5 100
FHI (902) (853) 34 22 56 19 10 29 15 100
St (257) (341) 16 39 54 27 8 35 11 100
S2/E[Rl/T|EH  (649) (629) 30 20 50 24 15 39 11 100
BE/28E] (20 (21) 18 25 43 8 10 18 39 100
dHH AZF ol4
AR AZ=| (1,038) | (1,037) 34 22 56 28 13 41 3 100
=2 AZE| (2,033) | (2,046) 30 26 56 24 13 37 7 100
st AZE| (1,752) | (1,737) 28 24 52 25 13 38 10 100
RE/ESE (77 (180) 18 15 33 17 10 27 40 100
o|g/da
RE| (1,434) | (1,450) 22 26 47 30 19 49 4 100
=&| (1,557) | (1,588) 29 28 57 28 1 39 4 100
= (1,637) | (1,586) 41 22 63 18 10 28 9 100
2E/RSHE| (372 (375) 14 14 28 20 11 31 41 100
X x|get
=0 2IFE (1,748) | (1,756) 20 23 43 32 19 51 6 100
=003l (1,900) | (1,813) 44 23 67 17 7 24 9 100
ZMAEoIE  (51) (56) 22 31 52 38 7 44 4 100
TINSHAME (123) (125) 47 25 73 17 9 27 1 100
MEZ=20|2f| (56) (63) 67 20 87 7 6 12 1 100
MZRIEASH (1) ) 0 0 0 0 100 100 0 100
TS (33) (34) 34 22 56 30 6 35 9 100
ZTZHAMEH  (435) (418) 15 24 39 35 22 57 4 100
7IEFEE  (79) (79) 34 24 59 20 13 33 9 100
RNS/BE/ZEE (574 (654) 19 29 48 24 8 32 20 100
TH2FE 7t
=3 "®7H (1,737) | (1,651) 46 21 67 16 8 24 10 100
28 ™IH (3,027) | (3,094) 22 26 48 30 16 46 6 100
DE/2EE (236) (256) 16 21 37 18 8 26 37 100
EH Er o
MIAEHZE| (4,241) | (4,155) 31 23 54 25 14 38 8 100
A2SERZ| (496) (550) 21 37 58 26 7 33 9 100
HEES| (135) (150) 21 14 35 26 18 43 21 100
2ot/ B E/ESE|  (128) (145) 22 21 43 27 7 34 23 100
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FR oH
rrra
rx
N
Y Mo
0z o

ox wg
on
mo

[£12] Ol =2[o|| MAHOA CHZ2| et

St=d 2otLt dgs FACHD

CH|
= B R > 3
ZARER | T 2 0f < CHA| 2 ™ HE2 s B2 o=/
A NS s dots | 9¢s gdots | = o A
(%) orotch  grorct
m HA m (5,000) | (5,000) 18 28 47 2 13 46 8 100
a4
EHXH (2,596) | (2,477) 19 28 46 34 15 48 5 100
O{XF (2,404) | (2,523) 18 29 47 31 12 43 10 100
ol
18-29M| (580) (798) 1 28 38 40 14 54 8 100
30-39A| (648) (741) 15 27 41 36 18 54 5 100
40-49M||  (904) (891) 19 30 49 35 13 47 4 100
50-59Al| (1,066) (981) 24 29 53 32 1 43 4 100
60-69AM|| (976) (867) 22 29 51 28 13 11 8 100
70M|0| &  (826) (722) 20 27 47 24 11 34 19 100
AHpys ™
X 20CH| (345) (416) 13 26 39 40 15 54 7 100
O Xt 20CH| (235) (382) 8 30 38 40 14 53 9 100
SFXF 30CH| (382) (385) 15 27 42 34 19 52 5 100
O Xt 30CH| (266) (356) 14 26 40 38 16 55 5 100
XL 40CH|  (482) (453) 18 28 46 36 14 50 4 100
O X} 40CH| (422) (438) 19 33 52 33 12 45 3 100
SFXF 50CH|  (547) (494) 24 28 52 32 13 46 3 100
O Xt 50CH| (519) (487) 23 31 54 32 9 41 5 100
Xt 60CH| (485) (427) 21 28 49 32 14 46 5 100
O Xt 60CH| (4971) (440) 23 30 53 25 12 36 11 100
=Xt 70M O|& (355) (302) 21 30 50 26 13 39 11 100
O X} 70M| O|&F| (471) (420) 20 25 44 22 9 31 25 100
HEXH
AN=| (934) (933) 20 27 47 34 13 47 6 100
QIE/A7]| (1,601) | (1,601) 18 29 47 33 13 46 7 100
™/ MB/58| (536) (536) 17 28 45 35 14 48 7 100
/Ml (484) (484) 20 28 49 31 14 45 6 100
/45| (483) (485) 18 30 49 30 12 42 10 100
A 24/8E| (749) (746) 18 29 47 30 13 44 10 100
Z2/MFE| (213) (215) 17 25 42 37 12 49 9 100
[ H =]
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[# 12-3] &8 &g 2¢ - ) # FEe 3H X dHES
[£12] O|'H =2 MAON CtZO| HOHE0| MUEHNAM ErY 2 & FY2 2= oLt g2 FQCtn
MZESE AL 72
CH
S R S ]
MR | g 0f < CHA| 2 ™ HE2 3 B2 ey
HA| NS A;Eﬂi g2 g2 (@+®) das g2 G+@) = S A
(%) oy | FACH  F=QAC FX| FX| TesE
(3) OIICE  osotrt
m HA m (5,000) | (5,000) 18 28 47 32 13 46 8 100
x| 9]
S/L/L | (155) (137) 16 35 51 23 13 36 14 100
AEA|  (953) (897) 22 27 49 34 12 46 5 100
S2Ztatl  (538) (539) 17 28 45 32 13 45 10 100
3tO|EZEH (1,526) | (1,583) 18 30 48 34 14 49 3 100
FHI (902) (853) 20 30 50 27 10 37 13 100
St (257) (341) 13 28 40 39 15 54 6 100
S2/E[Rl/T|EH  (649) (629) 19 23 42 33 15 48 10 100
BE/28E] (20 (21) 0 30 30 17 6 23 47 100
dHH AZF ol4
AR AZ=| (1,038) | (1,037) 20 30 50 33 14 47 3 100
=2 AZE| (2,033) | (2,046) 19 30 49 34 12 46 5 100
st AZE| (1,752) | (1,737) 18 27 45 32 13 46 9 100
RE/ESE (77 (180) 10 18 27 16 15 31 42 100
o|g/da
RE| (1,434) | (1,450) 21 29 50 33 14 47 3 100
=&| (1,557) | (1,588) 18 29 47 37 12 49 4 100
H2=| (1,637) | (1,586) 19 30 48 31 13 44 8 100
2E/RSHE| (372 (375) 12 17 29 20 14 34 37 100
X x|get
=0 2IFE (1,748) | (1,756) 21 29 50 31 14 45 5 100
=003l (1,900) | (1,813) 21 31 52 30 10 40 8 100
ZMAEoIE  (51) (56) 9 24 33 43 17 60 7 100
NS A (123) (125) 17 29 46 36 14 51 3 100
MEZ=20|2f| (56) (63) 34 19 52 35 13 48 0 100
MZRIEASH (1) ) 0 0 0 0 100 100 0 100
TS (33) (34) 26 24 49 29 19 48 3 100
ZZS A (435) (418) 15 29 44 39 15 54 3 100
JIEFES  (79) (79) 17 26 43 32 19 51 5 100
RNS/BE/ZEE (574 (654) 7 21 29 38 16 54 17 100
TH2FE 7t
=3 "®7H (1,737) | (1,651) 22 31 53 27 11 39 9 100
28 ™IH (3,027) | (3,094) 18 28 46 35 14 49 5 100
DE/2EE (236) (256) 7 16 23 31 12 43 34 100
EH Er o
MIAEHZE| (4,241) | (4,155) 20 29 49 31 13 44 7 100
A2SERZ| (496) (550) 8 29 37 41 12 53 9 100
HEES| (135) (150) 9 19 28 35 23 57 14 100
2ot/ B E/ESE|  (128) (145) 10 20 30 35 18 53 17 100
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O|Z A AtEl

IR
nr ri

[£12] Ol =2[o|| MAHOA CHZ2| et

dg= Z28st=H 2ot dgs FACLD

CH|
= B R > 3
ZARER | T 2 0f < CHA| 2 ™ HE2 s B2 o=/
HA| NS L | @ T2 gdots | = s A
@ | M zan zgg @@ xxy  Fzx @@ F8E
(%) orotch  grorct
m HA m (5,000) | (5,000) 27 28 55 5 14 38 6 100
a4
X (2,596) | (2,477) 27 28 55 24 16 40 4 100
O{XF (2,404) | (2,523) 27 28 55 25 11 37 9 100
ol
18-29M| (580) (798) 22 33 55 28 10 38 7 100
30-39A| (648) (741) 28 30 58 26 10 36 6 100
40-49M||  (904) (891) 32 27 59 24 14 38 3 100
50-59Al| (1,066) (981) 30 26 56 27 15 42 3 100
60-69AM|| (976) (867) 26 27 53 25 16 11 7 100
70M|0| &  (826) (722) 23 26 49 18 16 35 16 100
AHpys ™
X 20CH| (345) (416) 24 38 61 22 1 33 5 100
O Xt 20CH| (235) (382) 21 28 49 33 10 43 8 100
=Xt 30CH| (382) (385) 28 28 56 25 14 39 5 100
O Xt 30CH| (266) (356) 29 31 60 27 6 33 6 100
XL 40CH|  (482) (453) 30 27 57 23 16 40 4 100
O X} 40CH| (422) (438) 34 28 62 25 1 36 2 100
SFXF 50CH|  (547) (494) 29 25 54 27 17 45 1 100
O Xt 50CH| (519) (487) 31 27 58 26 13 38 4 100
Xt 60CH| (485) (427) 27 27 54 24 18 42 4 100
O Xt 60CH| (4971) (440) 24 27 51 26 14 39 9 100
=Xt 70M O|& (355) (302) 23 26 49 21 21 42 9 100
O X} 70M| O|&F| (471) (420) 23 26 49 16 13 30 22 100
HEXH
AN=| (934) (933) 27 27 53 26 15 41 6 100
QIE/A7]| (1,601) | (1,601) 27 28 55 26 13 39 6 100
™/ MB/58| (536) (536) 28 27 55 24 15 39 6 100
/Ml (484) (484) 34 26 60 23 1 35 5 100
/45| (483) (485) 24 30 54 23 15 38 8 100
A 24/8E| (749) (746) 25 31 56 23 13 36 8 100
Z2/MFE| (213) (215) 22 29 51 27 15 42 7 100
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[H 12-4] B8 gk Q0 - (4) oo H O|EH ALEY
=0 H

[£12] Ol =2[o|| MAHOA CHZ2| et

b
nr ri

ro

Yo AYsteD oht Y FoUCkn

CH|
S R S ]
MR | g 0f < CHA| 2 ™ HE2 3 B2 ey
HA| NS A;Eﬂi g2 g2 (@+®) das g2 G+@) = S A
(%) o | FRUCH =t ZFX| ZFX| TewE
(3) OIICE  osotrt
m HA m (5,000) | (5,000) 27 28 55 5 14 38 6 100
x| 9]
S/L/L | (155) (137) 30 22 52 19 14 33 14 100
AEA|  (953) (897) 30 24 54 27 15 42 4 100
S2Ztatl  (538) (539) 27 29 56 25 12 38 6 100
Slo|EZEH (1,526) | (1,583) 29 28 57 27 13 40 3 100
FHI (902) (853) 24 30 54 22 13 35 1 100
St (257) (341) 21 40 62 23 10 34 5 100
S2/E[Rl/T|EH  (649) (629) 25 27 52 21 18 39 9 100
BE/28E] (20 (21) 0 25 25 19 8 26 49 100
dHH AZF ol4
AR AZ=| (1,038) | (1,037) 29 28 56 28 14 42 2 100
=2 AZE| (2,033) | (2,046) 27 29 57 25 13 39 4 100
st AZE| (1,752) | (1,737) 26 28 55 23 14 37 8 100
DE/ESE (177 (180) 19 17 35 14 13 27 37 100
o|g/da
RE| (1,434) | (1,450) 32 27 59 25 12 37 3 100
=E| (1,557) | (1,588) 27 31 59 26 12 38 4 100
= (1,637) | (1,586) 24 28 52 25 17 42 6 100
2E/RSHE| (372 (375) 20 19 39 18 12 30 31 100
X x|get
HE0{TFE (1,748) | (1,756) 33 25 58 25 12 38 4 100
=003l (1,900) | (1,813) 22 29 51 25 17 42 7 100
ZMAEoIE  (51) (56) 18 23 42 42 13 55 3 100
TINSHAME (123) (125) 40 28 67 21 9 30 3 100
MEZ=20|2f| (56) (63) 22 40 63 22 16 37 0 100
MZRIEASH (1) ) 0 0 0 0 100 100 0 100
TS (33) (34) 34 42 76 12 10 22 3 100
ZTZHAMEH  (435) (418) 32 28 60 24 14 38 3 100
JIEFES  (79) (79) 23 21 43 28 22 50 7 100
RNS/BE/ZEE (574 (654) 20 32 52 23 9 31 16 100
TH2FE 7t
=3 "®7H (1,737) | (1,651) 21 29 50 25 18 42 7 100
28 ™IH (3,027) | (3,094) 31 28 59 25 12 37 4 100
DE/2EE (236) (256) 14 26 39 22 7 29 31 100
EH Er o
MIAEHZE| (4,241) | (4,155) 28 27 55 25 14 39 6 100
A2SERZ| (496) (550) 24 34 58 23 1 34 8 100
HEHEZS| (135) (150) 23 25 49 23 16 39 12 100
2ot/ B E/ESE|  (128) (145) 22 28 51 22 10 32 17 100
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[H 12-5] &8 gT Q0l- (5 O|F
[£12] O|'H =29 MAHOAN CtZO| HOHSO0| MM E

=

CH|
= B R > 3
ZARER | T 2 0f < CHA| 2 ™ HE2 s B2 o=/
HA| NS L | @ T2 das g2 s A
('304) Afﬂ-r _;F_?il:l_ _;'c_(zil:l_ (®+®) _;'c_xl _;'c_xl (®+@) T3||:=||-
(%) orotch  grorct
m HA m (5,000) | (5,000) 29 22 51 2 14 38 11 100
a4
EHXH (2,596) | (2,477) 31 23 54 23 15 38 8 100
O{XF (2,404) | (2,523) 26 22 48 25 13 38 14 100
ol
18-29M| (580) (798) 12 25 36 34 12 46 18 100
30-39A| (648) (741) 21 27 48 27 13 40 12 100
40-49M| (904) (891) 39 21 60 20 13 34 6 100
50-59Al| (1,066) (981) 42 21 63 19 12 32 5 100
60-69AM|| (976) (867) 31 21 53 24 16 40 7 100
70M|0| &  (826) (722) 22 19 41 21 18 39 21 100
AHpys ™
X 20CH| (345) (416) 11 26 36 33 14 47 17 100
O Xt 20CH| (235) (382) 13 24 36 35 10 45 19 100
SFXF 30CH| (382) (385) 22 26 49 27 14 41 11 100
O Xt 30CH| (266) (356) 19 28 47 27 13 40 14 100
XL 40CH|  (482) (453) 40 21 61 20 14 34 5 100
O X} 40CH| (422) (438) 38 22 59 21 13 34 7 100
SFXF 50CH|  (547) (494) 45 21 67 18 13 31 2 100
O Xt 50CH| (519) (487) 39 21 60 21 12 33 7 100
Xt 60CH| (485) (427) 37 22 59 21 17 38 3 100
O Xt 60CH| (4971) (440) 26 20 46 28 15 43 11 100
=Xt 70M O|& (355) (302) 26 21 47 21 23 43 10 100
O X} 70M| O|&F| (471) (420) 19 17 36 21 14 35 28 100
HEXH
MZ| (934) (933) 25 22 47 26 17 44 10 100
QIE/A7]| (1,601) | (1,601) 30 22 52 23 14 36 11 100
™/ MB/58| (536) (536) 31 23 54 24 12 36 10 100
/Ml (484) (484) 39 18 58 23 1 34 8 100
/45| (483) (485) 20 25 45 26 16 42 13 100
A 24/8E| (749) (746) 29 23 52 24 12 36 12 100
Z2/MFE| (213) (215) 25 22 47 24 14 38 15 100
[ H =]
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[ 12-5] &8 S R20- (5) 0|5Y = FOjAF Y =2t
[£12] O|'H =2 MAON CtZO| HOHE0| MUEHNAM ErY 2 & FY2 2= oLt g2 FQCtn
MZESEA L 7L
R %
S R S ]
MR | g 0f < CHA| 2 ™ HE2 3 B2 o=/
HA| NS A;Eﬂi g2 g2 (@+®) das g2 G+@) = S A
(%) o | FRUCH =t ZFX| ZFX| TewE
(3) OIICE  osotrt
m HA m (5,000) | (5,000) 29 22 51 2 14 38 11 100
A
S/L/L | (155) (137) 26 19 45 24 13 37 18 100
AEA|  (953) (897) 36 22 58 21 15 36 6 100
S2Ztatl  (538) (539) 32 22 54 24 1 35 11 100
Slo|EZEH (1,526) | (1,583) 32 24 56 24 13 37 7 100
FHI (902) (853) 25 20 45 23 15 38 17 100
stM|  (257) (341) 12 24 36 35 12 47 17 100
S2/E[Rl/T|EH  (649) (629) 23 23 46 23 20 42 12 100
BE/28E] (20 (21) 9 12 20 19 9 28 52 100
dHH AZF ol4
AR AZ=| (1,038) | (1,037) 30 23 54 25 16 41 5 100
=2 AZE| (2,033) | (2,046) 29 23 52 24 14 38 10 100
st AZE| (1,752) | (1,737) 29 22 51 24 13 37 12 100
DE/ESE (177 (180) 12 13 26 16 12 28 46 100
o|g/da
RE| (1,434) | (1,450) 46 22 68 18 8 26 6 100
=E| (1,557) | (1,588) 30 25 56 24 12 36 8 100
= (1,637) | (1,586) 15 22 37 31 22 53 10 100
2E/RSHE| (372 (375) 12 12 24 18 11 30 46 100
X x|get
=0 2IFE (1,748) | (1,756) 50 20 70 16 8 23 6 100
=003l (1,900) | (1,813) 10 23 33 33 22 55 12 100
ZMAEoIE  (51) (56) 21 28 49 34 1 45 6 100
NS A (123) (125) 32 25 57 21 17 38 5 100
MEZ=20|2f| (56) (63) 33 18 51 28 20 48 1 100
MZRIEASH (1) ) 100 0 100 0 0 0 0 100
RHEE (33 (34) 42 22 64 20 9 29 7 100
ZTZHAMEH  (435) (418) 51 24 75 13 8 21 4 100
JIEFES  (79) (79) 17 20 37 25 27 52 11 100
RNS/BE/ZEE (574 (654) 8 25 33 28 12 39 28 100
TH2FE 7t
=3 "®7H (1,737) | (1,651) 9 22 31 33 24 57 12 100
28 ™IH (3,027) | (3,094) 41 23 64 19 9 29 7 100
DE/2EE (236) (256) 7 14 22 22 11 32 46 100
EH Er o
MIERZE| (4,241) | (4,155) 33 22 55 23 14 37 9 100
A2SERZ| (496) (550) 10 26 36 32 14 46 18 100
HEHEZS| (135) (150) 12 20 32 25 18 44 24 100
2ot/ B E/ESE|  (128) (145) 10 18 28 30 15 45 27 100
I
HankookFesearch

33



[E 12-6] &H
[212] O|H =3|ol@ MAHOAM CHZ2|

=0

@ @ bM@
i) x
Sbs [o:] 'Hc"'—trg (0] 'éjli T2 Oﬂle'é'kgg [0: ko1 X=2 B2 E%/
I_-” oo=2 oo =2 oo =2 ocoo=2 OOoOChH 7:”
_7'<_?.|A|:|, _;'l:_(zit (@"’@) _;'l:_xl _;'l:_xl (@"'@) T od
R SEQFLCH
m HA m 39 28 66 0 8 28 100
Al
=P 39 28 67 19 1 29 100
o Xt 38 28 66 21 7 28 7 100
ol
18-29A 33 39 72 18 5 22 5 100
30-39A 43 31 75 15 7 22 3 100
40-49KM| 51 24 75 16 8 23 2 100
50-59A 47 23 70 20 7 27 3 100
60-69A| 32 26 58 26 1 37 5 100
704 0] & 22 24 46 26 13 39 15 100
AHpys ™
EFXE 20CH 28 42 70 19 26 4 100
O] Xt 20CH 38 37 75 17 19 6 100
=Xt 30CH 43 28 71 17 25 4 100
O X} 30CH 44 35 79 13 18 3 100
EFXE 40CH 50 25 75 13 23 2 100
O] Xt 40CH 51 24 75 19 24 1 100
=Xt 50CH 48 22 70 19 27 3 100
O X} 50CH 46 24 70 21 27 3 100
EFXF 60CH 37 24 61 24 35 3 100
O Xt 60CH 27 27 54 28 39 7 100
SHXF 70M| Of A 23 25 48 27 43 9 100
O X} 70M| O|A 21 23 44 25 36 20 100
HEXH
M2 36 29 64 22 31 5 100
QUM /E7| 40 27 67 20 28 5 100
E/ME/5H 40 28 68 18 27 6 100
/et 49 25 74 15 22 4 100
/45 29 31 60 23 33 8 100
HityZ2L/8E 39 27 66 19 28 6 100
ZR/A 32 30 62 26 31 6 100
[ A
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(B 12-6] &8 9% 20 - (6) 27}, % S EH &4
[£12] O|'H =2 MAON CtZO| HOHE0| MUEHNAM ErY 2 & FY2 2= oLt g2 FQCtn
MZESE AL 72
CH
S R S ]
MR | g 0f < CHA| 2 ™ HE2 3 B2 ey
HA| NS A;Eﬂ‘; g2 g2 (@+®) das g2 G+@) = S A
(%) o | FRUCH =t ZFX| ZFX| TewE
(3) OIICE  osotrt
m HA m (5,000) | (5,000) 39 28 66 20 8 28 5 100
x| 9]
S/L/L | (155) (137) 25 27 51 21 11 32 17 100
AEA|  (953) (897) 43 24 66 21 9 30 4 100
S2Ztatl  (538) (539) 44 23 68 18 7 26 7 100
slo|EZte} (1,526) | (1,583) 45 29 74 17 8 24 2 100
FHI (902) (853) 32 25 57 25 9 34 8 100
St (257) (341) 29 47 76 17 4 20 4 100
S2/E[Rl/T|EH  (649) (629) 31 26 57 23 12 35 8 100
BE/28E] (20 (21) 8 33 41 5 10 15 44 100
dHH AZF ol4
AR AZ=| (1,038) | (1,037) 39 30 69 21 8 30 2 100
=2 AZE| (2,033) | (2,046) 37 30 67 21 8 29 4 100
5t A= (1,752) | (1,737) 41 25 66 19 8 27 7 100
RE/ESE (77 (180) 19 21 40 17 10 27 33 100
o|g/da
RE| (1,434) | (1,450) 59 23 82 12 4 16 2 100
=&| (1,557) | (1,588) 41 31 72 18 7 26 2 100
= (1,637) | (1,586) 21 30 52 29 13 43 6 100
2E/RSHE| (372 (375) 23 21 44 18 9 27 29 100
X x|get
=0 2IFE (1,748) | (1,756) 61 22 83 10 4 15 3 100
=003l (1,900) | (1,813) 16 32 48 32 13 45 7 100
ZMAEoIE  (51) (56) 42 28 70 20 8 29 2 100
NS A (123) (125) 34 39 73 16 10 27 1 100
MEZ=20|2f| (56) (63) 48 28 76 14 10 24 0 100
MZRIEASH (1) ) 0 100 100 0 0 0 0 100
TS (33) (34) 64 18 82 8 3 11 7 100
ZTZHAMEH  (435) (418) 60 23 83 11 4 15 3 100
JIEFES  (79) (79) 33 23 56 24 14 39 5 100
RNS/BE/ZEE (574 (654) 27 33 59 20 8 28 13 100
TH2FE 7t
=3 "®7H (1,737) | (1,651) 15 32 48 32 14 46 7 100
28 ™IH (3,027) | (3,094) 53 25 78 13 6 19 3 100
DE/2EE (236) (256) 15 25 40 25 5 30 30 100
EH Er o
MIAEHZE| (4,241) | (4,155) 41 26 67 20 9 28 5 100
A2SERZ| (496) (550) 29 40 69 20 4 25 6 100
HEES| (135) (150) 24 26 50 25 14 39 1 100
2ot/ B E/ESE|  (128) (145) 25 27 52 19 12 31 17 100
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[ 13] HYXX =

[213] MEENME Ot T ol YE XXt LI 5% =22 2HEZ|JSLICH
& 18, o 2o =z0|2te O =Z0| 7= HoZtg? & =22 E8 E2|#&LICt
Rl %
Its ek = Elil =
BN = xa E=; 20 s He MEZ @ M2 Xy §E a9 3= ZEE/
A At A ol gl o3l goli g =0 EE T o8 HE B8 £8 . A
() (D.)T === =2 N 2 of < g dY 0 =1
< ALt
m HAH @ (5.000) | (5000) | 35 36 1 3 1 09 1 8 2 12 1 100
a4
=XH (2,596) | (2,477) | 35 @ 36 1 4 1 0 1 10 2 11 1 100
O Xt (2,404) | (2,523) | 35 @ 37 1 1 2 0 1 7 1 13 2 100
o=
18-29M|| (580) (798) 30 24 3 4 1 0 1 3 1 31 1 100
30-39All| (648) (741) 34 27 1 3 3 0 1 6 2 22 1 100
40-49M||  (904) (891) 49 @ 2 1 4 2 0 1 12 1 8 1 100
50-59AM|| (1,066) (981) 41 33 0 1 1 0 1 16 1 5 1 100
60-69A| (976) (867) 29 | 53 1 1 1 0 1 7 2 5 1 100
70M|0] A (826) (722) 24 . 62 0 1 0 0 0 5 1 4 3 100
M pyH™
=XF 20C| (345) (416) 24 32 2 7 2 0 1 2 1 28 1 100
O{ X} 20CH| (235) (382) 38 16 4 1 1 0 1 4 2 33 1 100
=Xt 30CH|  (382) (385) 32 ¢ 31 1 5 1 0 1 7 2 20 1 100
O Xt 30CH| (266) (356) 37 22 2 1 6 0 1 5 1 24 1 100
SHXE 40CH|  (482) (453) 51 21 0 5 0 0 0 13 2 6 0 100
O X} 40CH| (422) (438) 48 23 1 3 3 0 2 10 0 9 1 100
Xt 50CH|  (547) (494) 43 30 1 2 1 0 1 17 1 3 0 | 100
O Xt 50CH| (519) (487) 38 36 0 1 1 0 1 14 1 6 1 100
SHXF 60CH|  (485) (427) 31 45 2 2 1 0 1 9 3 5 1 100
O X} 60CH| (491) (440) 26 = 60 1 1 0 0 0 4 2 5 1 100
=Xt 704 O|&| (355) (302) 23 . 65 1 1 0 0 0 6 1 2 1 100
O Xt 70M O|&H (471) (420) 24 | 59 0 1 0 0 0 4 1 5 5 100
HEX A
ME| (934) (933) 30 41 1 4 2 0 1 6 1 13 1 100
OIM/Z7l| (1,601) | (1,601) | 39 | 32 2 2 1 0 0 9 1 13 1 100
CH™/MB/=HE|  (536) (536) 37 35 0 3 1 0 0 9 2 13 1 100
23/ 2t  (484) (484) 59 8 1 2 1 0 1 16 3 8 1 100
CH/Z2E| (483) (485) 20 | 57 1 2 1 0 0 5 2 10 2 100
BA/2L/EE| (749) (746) 31 42 1 2 1 0 2 8 1 11 1 100
BRA/MAZF] (213) (215) 24 47 1 2 2 0 0 6 3 13 1 100
[ H =]

2 A2 0.0%

9) A EMXAZ|OA Bt
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(B 13] EX[X=

[213] MEEAME O T O HES XXt 229 =22 g8 Ee|A&LCH
& 18, - FYo| =20|2t: O =Z0| 7= HOI7tQ? 242 =22 28 E2|ASL|Ct
R %
53t X%
AR | TOM Eg Lo =M M2 OME o, £3 29 st REy
A NS Afaﬂi of gl O|g| o o =0 EH T M OE FY 23 A
() (D.)T === =2 N 2 of ° g  ¥g 0 =
< QILCk
m A m (5,000) | (5,000) | 35 36 1 3 1 010) 1 8 2 12 1 100
A
S/Q/a4 ] (155) (137) 33 50 1 1 0 0 1 8 1 5 1 100
AE | (953) (897) 36 39 1 3 1 0 0 11 1 8 0 100
=FZe2t (538) (539) 40 32 1 2 1 0 1 9 2 12 2 100
Slo|EZH2} (1,526) | (1,583) | 40 @ 26 1 4 2 0 1 10 2 13 0 100
ZE (902) (853) 29 53 1 1 1 0 0 5 1 7 2 100
ot (257) (341) 29 22 2 3 1 0 1 4 1 35 1 100
S AI/E[2l/7|EH  (649) (629) 31 44 1 2 1 0 1 6 2 11 2 100
DE/RSHE|  (20) (21) 5 31 6 0 0 0 0 5 0 27 27 100
ZdHH A F N
M2 AZ| (1,038) | (1,037) | 34 39 1 4 1 0 0 9 1 9 1 100
=2 A=| (2,033) | (2,046) | 35 38 1 2 1 0 1 8 2 12 1 100
519l AZ| (1,752) | (1,737) | 37 @ 33 1 2 1 0 1 9 2 13 1 100
DE/RSE| 77 (180) 22 37 1 1 1 0 1 5 1 22 0 11 100
o| s gk
RE| (1,434) | (1,450) | 63 10 2 1 1 0 2 12 1 7 0 | 100
=& (1,557) | (1,588) | 35 @ 27 1 3 2 0 0 11 2 17 1 100
B (1,637) | (1,586) | 11 71 1 4 1 0 0 3 2 7 1 100
DE/REEE| (372 (375) 27 29 0 0 0 0 0 4 1 30 8 100
x| x| gg
HE20{QIFE (1,748) | (1,756) | 100 @ O 0 0 0 0 0 0 0 0 0 100
Z0lo|sl| (1,900) | (1,813) 0 100 0 0 0 0 0 0 0 0 0 100
=MEoIE|  (51) (56) 0 0 1100 O 0 0 0 0 0 0 0 {100
NS A (123) (125) 0 0 0 100 0 0 0 0 0 0 0 100
MZ20[24| (56) (63) 0 0 0 0 100 O 0 0 0 0 0 100
MEEHSH (1) (1N 0 0 0 0 0 100 0 0 0 0 0 100
RHCH  (33) (34) 0 0 0 0 0 0 100 O 0 0 0 100
ZIEAME| (435) (418) 0 0 0 0 0 0 0 100 O 0 0 100
7|EPHE  (79) (79) 0 0 0 0 0 0 0 0 100 0 0 100
S=2/2E/28E] (574 (654) 0 0 0 0 0 0 0 0 0 91 9 100
SH2E "7t
23 "I (1,737) | (1,651) | 4 84 0 1 0 0 0 0 2 6 1 100
B mWIH (3,027) | (3,094) | 54 @ 11 2 3 2 0 1 13 1 12 1 100
DE/2SE| (236) (256) 9 33 1 2 1 0 1 0 1 43 9 100
=M E8 og
MIEHZS| (4,241) | (4,155) | 38 38 1 2 1 0 1 9 1 7 1 100
ASEEZE| (496) (550) 24 31 1 3 1 0 1 5 3 30 2 100
HEEZ| (135) (150) 18 = 20 2 3 1 0 0 4 1 48 2 100
27t/ E/28E  (128) (145) 14 21 1 3 2 0 0 5 1 49 4 100
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